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Unit 3 Target 1 Remediation

Simplify each expression. Leave no negative exponents in your answers.
I. (2x9)3(—5x%) 2. (—3x7%y%)2(2x3y)3
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3. 4w 23 2w*v? + 3w209) 4. If f(x) =x3—3x+4 find f(—2x?)
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Unit 3 Target 2 Remediation

1. Given that (x + 2) is a factor of x3 + 7x® 4+ 12x + 4, what is the remainder when 3+ Tx?+12x+ 4is

divided by (x + 2)? @l‘
e RS B T

< YL‘H)w‘hC
2. Find the quotient using 1pKg division. (9x3 — 24x% +8x +3) + (x — 2)
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Unit 3 Target 3 Remediation

1. What is the maximum number of turns 2. . ¢
for a functipgp of the form: ; . OIS 5.
f(x) =ax¥+bx®+cx?+dx+e :

a. 6 . 2

b. 5 a,{"’\/ ¢ %/ v o

te s 1 R R

The function has a minimum degree of

The leading coefficient is: positive

(circle)

3 : 4.

N

Describe the end behavior of the function:

Circle all the+ als that are de ing:
(0,2.2) (2.2, 0)) (-0, -2.2) (-2.2, 0; Asx » -0 f(x) > —Q

\/

Asx - o0  f(x) - ’(”QZ

5. Use the graph on the righ{teranswer each question.
a. Is the function of even or gree? How do you know?
[t 1§ 9oy o teo w
coeffios

b. Is the leading nt positive or negative? How do you know? T

Positive, bothe amwons are v s firechvo

c. Estimate the value o% each of the real zeros of the function.

ol

=1, |
d. Does therg appgar to be any zeros of even multiplicity? How do you know?

5 U is a ﬂ‘—'%;a«/w('
e. Does there gppear to be any zeros of oiir‘;iplicity? How do you know?

eSS 4 (5 & ace._

f. What is the minimum degree of the function? How do you know? (ﬂ rCal letoe S

—~—

g. Describe the behavior of the function on the interval (1, 2.3). MW};‘ /\_pg

h. State the domain and range of the function using interval notation (estimate).
D (,D —00 00
R T-5, 00

gr negative




6. Use the equation to answer each questiors./

f) = —x2(x—2)3(x2 = 25) = —X (X~

a. What is the degree of this function? (7

Y5k )

b. What is the maximum number of turns in this function? Cp

c. How many roots does this function have? /l
d. What are the zeros of this function? O/ O) 2) ll 7,/ ’S, 5

e. Are there any points of tangency to the x-axis? If so, where? CS 7

f. Are there any terrace points at the x-axis? If so, where? \/@(j P 9.

g Asx>-o ,f(x)>_=CP andasx~> ,f(x)>_—0Q°

h. Complete the sign change chart for the function.

xt| ()] x¥s| x-s| FCx)|

-0 =] — — . ol
2 -1 =1+ =1 =4
L | =] — | £ ") =

3 —— T + - T |
Ll -~ + r | x —

Sketch the graph of this function without using a calculator.

T

e sure to label the units on the x-axis.
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Algebra 2 & Tng

Unit 3 Target 4 Remediation
1. Which defines a polynomial function with 2. Assuminga= -1, write a fqnction of least degree
zeros -2, 1, 0, and 3? in factored form for the graph.

X f)=x(x—-2)(x+1)(x+3)
¥ () =x(x=2)(x—1)(x—3)
. FO =xx+2)x-DE-3))

%Tx) = —2)(x+1)(x +3)

Write the polynomial function in factored form for the given features or graph.

3. This fifth- degree polynomial

function has a = 4, a terrace

point at 3, and other roots of

T4 (-5 sn )

N =0 02) () (x-3)

A U =g (~1+DE) (1-3)
1V y=al2)0) )

1\ 4=
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Unit 3 Target 5 Remediation

1. Factor completely: x3 — 125

(%= )6 5% +25)

2. Solve by factoring: x* —29x% + 100 =0

a. -5,-2, 2i, 5i 7 . 7

b. 2, 5, 2i, 5i 6(*%)6&‘%)%
T > % — ..

c. 25, -4, 4, 25 X=2y x=Y

L

o

SOLVE each polynomial over the set of complex numbers by FACTORING. Provide exact solutions only. Irrational

solutions must be in simplified form (no rounded decimals).

3. 3x3 =24

Factored Form: th"Z)( X?q’?/x +€‘D -~ O

Solutions: Q‘/) “’l i N—?S

4. 5x*—80x2 =0

Factored Fom:EX’L(XW)CX*LD e D

Solutions: O,() U
7 / VAL

5. 3x34+2x2—-12x=8

Factored Fom:_L%X+Z> ('X’qu>'_/o

Solutions: ’—,(Z:_- 5 tQ,.
5 4

xE24=0 2+ J4H44)
25X -§)=0

i

S0NKH) 2T
7

2212

Sy (K= 10)=0 Z
s (Kt K+) =0

BXHINAUE =0
W (% +2) ~HBRF=0
(RO
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j Unit 3 Target 6 Remediation F
% 1. Which describes the number 2. Find the solution set for the equation s
) and type of roots of the equation x* +4x3 —5x% = Z (7(2 -
3x* — 2x% — 8x% — 26x —3=0 X ‘%(‘5)
3 2
4 A. 4 real roots X CX’SYXﬁ >-;O i
: B. 3 real roots and 1 imaginary root c
1 y 100 -

© . O ) O / .'D ( |
,1 @ 2 real and 2 imaginary ro@
E D. 1 real root and 3 imaginary roots
7
:
j Find all of the roots of each function by depressing the polynomial. Provide exact solutions only. Irrational
3 solutions must be in simplified form (no rounded decimals).
3
i 3. f(x)=x4+2x3+x2+8x—12 [ -3 4. f(x) =% +4x*+x—26 2
3
; le Lo 426
] L 2 (1126
: | 1210
- z =
, (A K +HeK () =0
3 Z -
; Koxt d=43r L
3 (5 i
; Oxt%)=-YH
E X+% =L 7L
: A==3 LU
:
3 3
] i
:
= [
4 -
: E
jil F
1
4 J
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